NICU

1

NL-05

( Amax)

2)

3cm

1

3)NICU
NICU

4)

NICU

RION
LR-07

(. AE)

5cm

(NICU)

( Aeq)

30
ON OFF

5

4 NICU
10dB

NICU
1

6)

iy

A, B, C, D 4 1

A 35 525m2
9 C D 70m2

NICU

2)

V-850
1 1
1 C
B
A C D
1 NICU
4
3)
800 16:00 1600 24:00

2400 800



4)

1
64 66dB
5)
1 (LAmax) D
90.2dB B 87.9dB A C
6)
1
10dB
10%
NICU
NICU
3848dB
NICU
4

NICU NICU

NICU

10dB

1)

2) 4

3)

4) (

30.4dB

10dB
NICU 3
4
)
14.1dB
NICU



X RAl
Lamax 86.2+2.4dB

==
¥
— # T
| L !
T ! 3
x i
: <
i1 I
1T

R
LArrJ_ax 77.1+1.4dB(p<0.05)

=== E
= -
: .‘Eur nﬁ
+ + +
+ +
+ + +
+ + +
p<0.05 versus B p<0.05 versus D



